
Ukázkové př́ıklady na dvojný integrál

Cvičeńı 1. Spoč́ıtejte
∫∫

B xy dx dy, kde B = {(x, y) ∈ R2 : x2 + y2 − 1 ≤ 0, x + y − 1 ≥ 0}.

Obor integrace:

Řešeńı:

∫∫
B
xy dx dy =

∫ 1

0

∫ √1−x2

1−x
xy dy dx =

∫ 1

0
x

[
y2

2

]√1−x2

y=1−x
dx =

∫ 1

0
x

(
1− x2

2
− (1− x)2

2

)
dx

=

∫ 1

0
x2 − x3 dx =

1

12

Cvičeńı 2. Spoč́ıtejte
∫∫

B e
x
y dx dy, kde B = {(x, y) ∈ R2 : x ≤ 0, y ≥ 1, y ≤ 2, y2 ≥ x}.

Obor integrace:
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Cvičeńı 3. Spoč́ıtejte
∫∫

B
y
x2 dx dy, kde B = {(x, y) ∈ R2 : 1 ≤ x ≤ y ≤ 3}.

Obor integrace:

Řešeńı: ∫∫
B

y

x2
dx dy =

∫ 3

1

∫ 3

x

y

x2
dx dy =

∫ 3

1

1

x2

[
y2

2

]3
y=x

dx =

∫ 3

1

9

2

1

x2
− 1

2
dx = 2

Cvičeńı 4. Spoč́ıtejte
∫∫

B 1 dx dy, kde B = {(x, y) ∈ R2 : x + y ≥ 4, x + y ≤ 12, y2 ≤ 2x}.

Obor integrace:
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